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Problem 1 (8 points)
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placed horizontally at a distance "h” from 2 perfect grounded conducting plane
per unit length on the conductor surface.
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Find the¢ induced charge
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*,Problem 2 (8 points) €.

’ kS
Two homogencous dielectric regions | (p <4 cm) and 2 (p 2 4 cm) have dielectric constants 4 and 2,

respectively. I£D2= 12 a, - 8 ag + 10 2, nC/m?, calculate:
(a) K — o
(b) P2 and py.2

(¢) total surface charge densities above and below the interface (p = 4" and p = 4).
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Problem 3: (7 points) 2

A metal bar of conductivity G
'_____‘—h._\__'_‘_

and diclectric constant of ¢ is bent to form a flat 90° sector of inner radius
“a”. outer radius “b". and thickness 1™

surfaces at ¢ = 0° and ¢ = 90°)

(2) Using boundary value problem.
(b) Using Gauss’s law.

as shown below. Find the resistance of the bar between the vertical

R . £
: e
(¢) Which method from (a) and (b) is the best choice and why?
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A semi-circle of radius “a™ and 90° < ¢ < 270° placed at z = 0 plane and curry current “I”. Find H at point

4 Problem 4: (7 points)

9

O which is the center of the semi-circle.
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